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SI-65 | 3004 X 242 | 319,384 | 321,80 | studzienka inspekcyjna @425
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SI-64b| 3515 N 3,06 | 319,630 | 322,70 | studzienka z kregéw betonowych @1200
353,5 ® 310,650 z wtazem zel. typ D400
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SI-63 | 3815 X 3,01 | 319,790 | 322,80 | studzienka inspekcyjna @425 ~—-—~—~-—~—~—~—~—|~El
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SI-62 | 4235 X 270 | 320000 | 322,70 | studzienka inspekcyjna @425 T
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SI-61 | 4636 S 2,50 | 320200 | 322,70 | studzienka inspekcyjna @425
3 z wtazem zel. typ D400
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SI-60 | 5036 X 170 | 320400 | 322,10 | studzienka inspekcyjna @425
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SI-59b | 5501 X 1,70 | 321,800 | 323,50 | studzienka z kregéw betonowych @1200
z wtazem zel. typ D400
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